[ Efficiency vs vertpos |

0.4

0.00F - y-iereeeeeo R S—
0.08F - [fr+-friseeeeveenees o SRR,
0.07f -+ |J-erisereeeeens | e
0.06F | {14y} | SRR,
0.05F b e R
0.04F- 0 | SR S
0.03f- 01 11 S SO
0.02F TEE- - SR
0.0 At —

I RRE & B -'H%.......H. .................

0.95

1072

Efficiend

0.2

107 1

10

—=— DQM_mKkFit_time

—— DQM_mKkFit_time_b1
—— DQM_BDT_mkFit_time

0.18
0.16
0.14
0.12

0.1

0.08
0.06)
0.04
0.02

............................

............................

...................

.......

...................

...................

...................

i

0.8

0.6

[ Efficiency vs. sim PV z |

0.2

0.18
0.16)
0.14
0.12

0.1
0.08
0.06)
0.04
0.02

............................

R

................




	Contents
	Page 1


